@ Rechne und kontrolliere deine Lésungen.
7+1=_ 6+12 = 12 +6 =_ 4+ 14 =
14+ 7= 9+ 1 =__ 1B+2=__ 1M+ 4=

@ Rechne und kontrolliere deine Lésungen.

W= 8 +12 =__ 7+1=_ b+ b=
1M+5=__ 16+ 3 =__ 13+4 = 1+ 9=

7+5=__ 7412 = 741 = 4410 =

@ Rechne und kontrolliere deine Lésungen.
19 -6 = 12 < 9 = To - 6 = 19 - 1 =
15 - 3 = 1~ 5§ = 16 - 4 = 18 - 6 =

17 - F =__
6.5 =__
7.2 =
@ Rechne und ergénze die fehlenden Rechnungen.
15+2=__ 10+4=__ Mm+3=_ 12+ 3 =
15+3=__ M0+5=__ 12+3 =__ 127+ 4 =
1+4=_ W+6=__ 13+3 = 12+ 5 =
15+5 = 0+ 7 = 14+ 3 = 2 %6 =



